Answer to control # 9 — Description: Dry ditch, Southwest end

B is the correct answer.

This control site was chosen for a parallax problem. The challenge is to move around the parking
area to the west of the pond until you can see clearly which is the correct control. Then, keeping the
correct control in sight, move back to the viewing station and determine the new order of the controls.

On the map, you can see the pond, the parking area, the dry ditch, and a single tree. These
features don’t help much as reference points, since the controls are located on features that are obscured
from the viewing station and the angles are very close together.

In the terrain, you must move back along the parking lot to the west end of the pond in order to
see the terrain features. From the parking lot edge west of the pond you can clearly see the pond edge
and the rocks forming the dry ditch bed. But from that angle you are looking at A, D, B, C (or D, A, B, C
depending on where you stand). The trick is to determine that the third one from the left from the auxiliary
viewing station is the same as B when viewed from the real viewing station.




